AP Statistics —Chapter 9 Review (updated 2025)

Name:

Goal: Review MC and Free Response

Date:

Chapter 9 MC Instructions

- Selected MC questions from the entire chapter. Make sure you know how to do these!!!!!

Chapter 9 Free Response Instructions

Required work for CI problems: define the parameter, name the test, check the conditions, provide a
completely labeled normal graph, write the CI formula with the plugins, simplify the CI formula with the

point estimate +/- ME, write CI: [__, __], and answer in context.

Required work for TOH problems: define the parameter, Ho, Ha, o, name the test, check the conditions,
provide a completely labeled Ho normal graph, the sample statistics, test statistic, p-value in a probability

statement, and answer in context.
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e Parameter of Interest: same as TOH
¢ Confidence Level: q 570 ( ] — O, OS)
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e Use TICalc to find Confidence Interval — label Normal Graph. -> CI: [ O "f %S " 0.755_ ]

e Interpret CI
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